Brian bought a hat in France. He paid €45.
The same hat in England costs £39.99.

The exchange rate is £1 =€1.12

Is the hat cheaper in France or in England?
You must show your working.

£ €
/ /. 12

<
45 = [. /2 x
Yy s

/. ]2
=flto.]g

\

x

I+ /s ¢ Leoper

/

(7'2’!6 hot (S Pr)(d N Franca)

n

Ein (L anot,
(Total for question 6 is 3 marks)

A pair of trainers cost 3400 rupees in India.

The same pair of trainers cost £68 in the UK.

The exchange rate is £1 = 92 rupees.

Work out the difference between the cost of the trainers in India and in the UK.

Give your answer in pounds (£).

£ /MR
i . 7L
DC><?>/+<~) ')
SC-{'OC) = 1% %
x = >3y oo
72

68 — 3¢.9¢

< 136.9¢ (I lndia)

—

2 3/, oY
£..30 0O i

(Total for question 7 is 3 marks)

/




8 Carla is on holiday in Italy.
She spends €35 in a restaurant.

The exchange rate is €1 = £0.89

Calculate how much Carla spends in pounds (£).
€ £
= x 0.89
| 0. 897 > fs .
= £31/7./
55 >

(Total for question 8 is 2 marks)

9 The exchange rate in London is £1 = §1.31
The exchange rate in New York is $§1 = £0.79
Bernie wants to change some pounds into dollars.

In which of these cities would Bernie get the most dollars?
You must show your working.

NVew Yoex . :B t
| 079
ac><}
| = 0.79 =« Bémie would 3,0_/{—
. = b 44«(’, yl/(ojl’ o(olLar;
o 79 in  London
= 1.27

| New. Ysrk - L
n f / ﬂ l 7/ (Total for question 9 is 3 marks)
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George is going on a trip to Vietnam.

He wants to change £750 into Vietnamese dong.
George wants to get as many 200 000 dong notes as possible.

The exchange rate is £1 = 29000 dong.
Work out the greatest number of 200000 dong notes that George can get for £750

f VD2

s = 29 e0d X 7S o0

= 21750 000 21750 000

—

= /oy§.75

206 €00

il 88

(Total for question 10 is 3 marks)

11

In Australia a car costs $26 500
In Ireland the same car costs €17 500

The exchange rates are £1 = $1.96 and £1 =€1.14

Work out the difference in price between the car in Australia and Ireland.
Give your answer in pounds (£).

£ P f: £
| 19 & / /. 1Y
15(2“” X 17500
[ 94 x<= 26500 | 1Y x = /7§0Q
xr Z 2650¢° v = 17500
.94 /1

113 ) =+ /5350.9%
= 520 .4

/5350 88— /352041 ¢ [ 830.41..
(Total for question 11 is 4 marks)

/




12 In London potatoes cost £0.45 per Ib.
In Dublin potatoes cost €1.48 per kilogram.

1 kg=2.21bs
£1=€1.15

In which city are potatoes better value for money, London or Dublin?
You must show your working.

DugrLinv £1.48 for 2.21b s

€ Ibs
Iy € 2.2 E £
* - ’ [ (.15
%Y @672
;L;).DC' _ | -4 ¥ )
>x = LLE’ .15 = O 6772
7"2_' x- = O-67—2‘.
= 0O . 672 113
(€ per 1) —40. 5%

k0~€? Per )b [ A 'Du\ét,@-—n

Lonolon is betle volue (Total for question 12 is 3 marks)

13 The exchange rate in London is £1 = €1.15
The exchange rate in Berlin is €1 = £0.88
Angela wants to change some pounds into euros.

In which of these cities would Angela get the most euros?
You must show your working.

Beﬁz_z,_//v Jn  Ber lia tl/ = € I,/L7l
€ £
[ 0. %&
> She would get The
>C /
Ma}é’ Curod /A Lonolom .

(Total for question 13 is 3 marks)

N /
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~

Frank is travelling from the USA to Germany.
Frank wants to book flights which cost $710 and a hotel which costs €45 per night for 12 nights.‘
The exchange rates are as follows:

£1=¢€1.14

$1=€0.85

Frank can spend no more than £1000
Work out if Frank is able to book the flights and the hotel.

FL/QA/TS
$ £
EAN 0 €5
ARG, ><Dc
= 710X 0. %5 £ €
[ /1Y
= 5 2.5 0 .
€eo - iy 5
€4S x 12 = £ Swo [ 14x =113 5o
= .50
(Ho”fl:"—) j",}_l_i—gf——
|y
= t1003.0
to03.S0 + S4o = 1143.50 __,,;;;__l
N o .

(Total for question 19 is 4 marks)
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(Total for question 1 is 2 marks)
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2
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(Total for question 2 is 2 marks)

!

Rotation,.... 70"tk Clodkisc. ... Lente (22 i

(Total for question 3 is 2 marks)

_/




Reflect shape A in the line with equation y = x

(Total for question 4 is 2 marks)

................................................................................................................

K (Total for question 5 is 2 marks)




Enlarge the shaded triangle by scale factor 3, centre O
(Total for question 6 is 2 marks)

4
10

4 -

o1 2 3 4 5 6 7 8 9 10«x

Enlarge the shaded triangle by scale factor 2.5, centre O.

(Total for question 7 is 2 marks)J




%V

Shape A is transformed to shape B by a reflection in the x axis followed by a translation (p )

Find the value of p and the value of ¢.

(Total for question 8 is 3 marks)




YA

-

v

o

(a) Reflect shape P in the line x = 1.
Label the new shape A.

(b) Translate shape P by the vector ( 5 )
Label the new shape B. -

(c¢) Rotate shape P by 90° anticlockwise, centre O
Label the new shape C

(Total for question 9 is 3 marks)




10

B\

(a) Rotate trapezium T 180° about the origin.

Label the new trapezium A.

(b) Translate trapezium T by the vector
Label the new trapezium B.

=)

(Total for question 10 is 2 marks)
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3 A
B is a point on the circumference of a circle, centre O.
AB is a tangent to the circle.
Angle BOA =172°
Work out the size of angle BAO.
You must show all your working.
o8np = 90° Tangent  meetd pooliwd ot 7o "

BAA0 = 8o —70 —72 Angles in o € sngl<
0 adot to 1IOT
i B

(Total for Question 1 is 2 marks)

T ———

<7

B
A, B, C and D are points on the circumference of a circle.
Angle BOC = 66°

(i) Find the size of angle BAC.

23 o

(i) Give a reason for your answer.

The C!,ng (€ ot Che /e isa, #erén({o i3 lro b [

12e 014()54 (£ ST -l =y R A < B oy oo
(Total for Question 2 is 2 marks)

\_

_




3

B and C are points on a circle, centre O. , — ©

AB and AC are tangents to the circle. O8A and OC 77 70

; o 7L 0 *

Angle BAC = 40° "/’;»f'j'b‘f meets 7F bk ¥ 7

Work out the size of angle BOC.

You must show all your working.

X = )
2606 —2940 —a6 —%C 4O
Argles in = geaolo Coterss [ 4O
adds o S60° (Total for Question 3 is 3 marks)

4

A, B, C and D are points on the circumference of a circle.

Angle CAD = 62°
Angle ADB =51°

(i) Find the size of angle ACB.

(ii) Give a reason for your answer.

/q-”lU@ (e #r"om 7 I~ Som 2 fr)/‘/lh ‘//‘b 129

S Lo

Cspe oo foecea c,e// et PPy 4

(Total for Question 4 is 2 marks)

\_

_J




A, B, C and D are points on the circumference of a circle.

¥ S

Angle BAD = 94°
Angle ADC = 83°
(i) Find the size of angle ABC.

(i1) Give a reason for your answer.

ODpo sile

/] §0

c{,/t_z/, (e i

D

P

v

o\oAﬂL (4 /YO

- c,gc/(/c;

(Total for Question 5 is 2 marks)

A and B are points on the circumference of a circle, centre O. A’V\?/I’w

Angle ABO = 48°

(i) Find the size of angle 40B.

(i) Give a reason for your answer.

]go — w4

WreJ ot twe. loctie of. on

ot boadt

a}/ 1305C‘Z/’23 ol
Q,L7M
,_4 8’
g o
[ secScele s

%V/"fm‘c} le o

7 ;7 woad  + M%/Au

&

{1

odat o L.E0°

a. - rz‘\é‘&/l%e

(Total for Question 6 is 2 marks)

N

/




C

A and C are points on the circumference of a circle, centre O.
AB and BC are tangents to the circle.

Angle ABC = 46°

Find the size of angle OAC.
Give reasons for each stage of your working.

A’ﬁ[ 1§ an /hSOS(e/eJ f'r/rwy/{ , Z éfam%e/ﬂl"f
Prom The some /ao,’,,f sre egual

| |90 — ¢« L _ 139 - .
CAL = R
2-

Aﬂ'?’“ ot e Lose of AR Jsoscele s

f//\anj/{ e d Q;Mo—j

owmwiE = 70° TaﬂyenF eels odd aus o 705

OAL = Fo — €7 22"

I

2 3 °

(Total for Question 7 is $ymarks)

/
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76

D C E

A and B are points on the circumference of a circle, centre O.
DCE is a tangent to the circle.

Angle ACD = 76°

(a) Find the size of angle ACO.
You must shew all your working.
C{\ve c€osons fy-

oCp = 70" T angtat meets

90 - 76 = '

/‘ad//(«l‘f

/4

ot Jof

(b) Find the size of angle 4BC.
You must shew-all your working.
Y o Sons for

8]

ALC = 74 A//f(/‘»vm/-—& ,\:ej,,\,,{,‘} Theo- e

/6

@)

(Total for Question 8 is 4 marks)

/
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| /
C
A, B and C are points on the circumference of a circle, centre O.
BD and CD are tangents to the circle.

Angle ODC = 26°

Find the size of angle BAC.
Give reasons for each stage of your working.

%iaﬂgf/e Bop = ﬁ/'ang/{" pol all jrder ot e7bw/

0BD and 0CD = F0° Tangtat meets poofiots
at FO°
BoD ondt CoD = JFO— 90 —24

- 6?,6
Boc = 2Xx6¢ = (247

a ‘ e [rLtrtae
Bac < /128 _ 7 /‘l"ﬂj/f £ crreumf .
2 o halt The ongl/e

/s
at Fhe centrf€

7

(Total for Questioﬂ 9 is A marks)

/




c B
A4 and C are points on the circumference of a circle, centre O.
BC is a tangent to the circle.

Angle CAB =29°

Find the size of angle ABC.
You must show all your working.

OC/ﬁ = 2/70 ﬁ'ﬂﬁ/»{fj ot f’l,{ écvjré olé
an [soFceled g—//'mj/e
ar € e,}um/(

OCAhR = 70° "7’;/”3&__“‘/{, jn 227 ool ety
at 70°

4 pC = /30“70"7—7 -2

o
= 32 ,@Azj les o a  Criangl-e

wd ot o /80"

32 )

(Total for Question 10 is & marks)

_/




61°

/2 r

C
D

A, B and C are points on the circumference of a circle, centre O.
DCE is a tangent to the circle.

Angle ABC = 61°
Angle ACB = 73°
Angle BCE = x°

Find the value of x.
You must show all your working.

(2]

= o6 /T (s im o Eriangle
adot o PO

o

x = 4§ Al ernate sog et Theeren

ye o

(Total for Question 11 is 3 marks)

N /




D E
A, B and C are points on the circumference of a circle, centre O.
DCE is a tangent to the circle.
AB=BC
Angle BCE = 65°
Find the size of angle 40C.
You must show all your working.
gar = 65° AlfemsE FEgmet
’ [heor&s
= £5° Jes ot The b e %ﬁ
Acs = Ay
oLt /SoS[c‘/—eJ’ érz/cwnﬁ/»e o~
pgc = /80 6576 o
8 g les ‘& Lreeng
:/ 50 3 o
odt fO (TC
Loc = 2% 50 /%nﬁ'fﬁ ot centrt
= /00° turee ey le ~t circumference

/ OO
(Total for Question 12 is fmarks)

_/




A, B, C and D are points on the circumference of a circle, centre O.

Angle ADC = 118°
Angle AOC =x°

Work out the value of x.
You must show all your working.

ABe = /60 —11 & &/Dfay)ff JLﬂﬁ/fJ R

= 62" cgelic guad e (ot el st
fo /1 50°
Ape = LXx6T Argle at cetre 21
= Jzy fwite aayle 2C

CI/ cum #er e

/2y

(Total for Question 13 is 3 marks)

_/
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D

A, B and C are points on the circumference of a circle, centre O.
DCE is a tangent to the circle.

Angle ABO =27°
Angle BCE = 53°

Find the size of angle ACO.
Youmust-show-all-your-working

CUive reasons Lor eancta she~gz o our wos bty

BAp = 27° #BAngles «t bose of ISoscele?
C—/‘L/ﬂﬂy rd ar~ € C?M_ﬂ—/(

@ e~ JE ¢ ,_/u74 'ﬂl—e,O/ €. r
LAac = 553 Atlbernete Sojrs

o

53 —27 = Z¢

A& ’

(Total for Question 14 is &narks)

/




4 and B is a point on the circumference of a circle, centre O.

AC is a tangent to the circle.
OBC is a straight line.

OA=5cm
AC=12 cm

Find the length of BC.
You must show all your working.

OAc = J0°
z T

5 12
/67 =
oC =

Bc = /3

4 12 cm C

Tanygent preets radics oA /o

(?C//"’l (fﬁ*dlulj': Sam)

'

(Total for Question 15 is 4 marks)

cm

/




Angle CAB = 2x°
Angle ABC =3x°

Find the value of x.

Ac8 = 70°

You must show all your working.

3275

@

C

A, B and C are points on the circumference of a circle, centre O.

fffmﬂ/f jA o Jems Crrele

;s 907
22 + Roc + A0 = (80O
s = A0
> = K

=195

(Total for Question 16 is 3 marks)

/
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D
A, B, C and D are points on the circumference of a circle, centre 0.
Angle BOD =x°

Find the size of angle BCD, in terms of x.
Give reasons for each stage of your working.

BAD = = L rgle ot circunference

2

S bolf @,U/{ el ceatre

BCp ~ /& O ""/29‘3 0/0f0 ssce aﬂj/(f /7
/ & &Y cl'e 7%0(/;’/(/0« oot

wdd o [EO

(Total for Question 17 is 3 marks)

N\ /




18

C, D and E are points on a circle, centre O.
AERB is a tangent to the circle at E.

CD=DE
Angle AEC = x°

Find the size of angle OED, in terms of x.
Give reasons for each stage of your working.

C pE T X /’/f{/n(/& /{Cj? Iy a Theygre

£
cEp = /8o F Angles «t ThE & o)
"-’/__ - 5
2 0} o /”Joj-(@./ej f’/’/ Mj /»é
aré aZ(/Le/./(
OFC = J0 —Xx bb”/’r = 90°  Tangeat Meef‘io
,fo\a//'ut,r et JO
oEp = 180~ (90 ->)
2
- 70 - — X ”’90 =t DC
{
= — X
) /-E—;__ (Total for Question 18 is #'marks)

/




The diagram shows two shapes on a centimetre grid.

(a) Find the area of shape P )
base x heght  4XC = 12 em
. &

| Z cm’

(b) Write down the mathematical name for shape Q.

pa rallel °9 oo

(c) Find the area of shape Q.
bose x e g h S
z

34 & = [Sem /5 2

cm

(Total for question 1 is 3 marks)
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2 The length of a rectangle is two times the width of the rectangle.
The perimeter of the rectangle is 24 cm.

i R [’e/‘jh‘_ /)_e_r‘;'m&{-tf
o+ he

2
(8§ )
¥ x ¥ ; : g

Draw the rectangle on the centimetre grid.

(Total for question 2 is 2 marks)

3 The length of a rectangle is three times the width of the rectangle.

The area of the rectangle is 48 cm?.
oA e 1 engtt ol

Draw the rectangle on the centimetre grid. 9 £ (%
' 3 9 27

(YL/([Z 2 2 ¢« & v

(Total for question 3 is 2 marks)

- )
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4 The base of a triangle twice the height of the triangle. , b fe i |
The area of a triangle is 16 cm’. ‘ afex 2“3\4
L\,e_((j It bare arTT
Draw the triangle on the centimetre grid. - &
bt x heigudy ¢ %} Z 1
___________——‘——‘.—— ~ .

bese x W 3\4{" = 372

(Total for question 4 is 2 marks)

5 The base of a parallelogram twice the perpendicular height of the parallelogram.

The area of the parallelogram is 50 cm”. .
rig W o

L a -
Draw the parallelogram on the centimetre grid. = ) €
‘ ; 32 |
/o s 50

(Total for question S is 2 marks)

N - . /
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6 Here is a rectangle.
7 cm
4 cm
The six-sided shape below is made from two of these rectangles.
- 7
*
7 7
3
7 -4 = 3
Work out the perimeter of this six-sided shape.
. . + 3+t
74 ¢+ Tt 0
36 cm
(Total for question 6 is 3 marks)
7 A square has an area of 64 cm”. g
gx §=6Y
% 64 cm® ¥
. . ¥
Find the perimeter of the square.
4k 8 = 32

BIA

(Total for question 7 is 2 marks)

cm

-
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A

The diagram shows a prism.

Work out the volume of the prism.

lQY“e_a— oy oSS S‘»ecfion = 2 2 -+ 92 x |
z
= ¥ cwm
\/‘0 l\,\ mL = g X (R
' 3
= A6 coe

(Total for question 1 is 3 marks)

The diagram shows a triangular prism.
The cross-section of the prism is a right angled triangle.

Calculate the volume of the prism.

Brrea of Ccro 3SS S€ction = 6ar\”

vVolume = 6 x K

“SH ¥ C/"\’)s

fl

(Total for question 2 is 3 marks)

_J
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4

- 8 cm

The diagram shows a pI'lSIIl
The cross-section of the prism is a trapezium.

Work out the volume of the prism.

Byrea of Croes sect on <
3
—_ LfZ_O C

/T
l =/10cm/v

L) <
& x 1
"f?..c”—ml
3

2O e

(Total for questlon 3is 3 marks)

The diagram shows a trlangular prism.
The cross-section of the prism is a right angled triangle.

The volume of the prism is 198 cm’

Calculate the value of x

Vv € o of ¢ross seehon = jiff‘ = 2x
ya
Vo lam€ = 2x x 9 = [ 8 o¢
| g = (17 &
9@'__.___./78’5..2—?-;//6m //
/& 7

(Total for questmn 4 is 3 marks)J
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38°

13 cm

Work out the value of x.
Give your answer to 1 decimal place.

i

5i1(%8) sin(100)

/3 A sin(3%)

x =
sin(100)
- g (etp)
......... R -
(Total for question 1 is 3 marks)
B
Sm
2
A
C
Work out the length of BC.
Give your answer to 3 significant figures.
x — — e
Sin(42) sin(53)
—_ 5 5.\(\ (.HQ-)
2 X
> N (53}
= oy 1T <35F) ....... 4.17...m

(Total for question 2 is 3 marks)

o )




6.7 cm

Work out the value of x.
Give your answer to 3 significant figures.

i N (CIS\

Work out the size of angle x.
Give your answer to 3 significant figures.

S‘i’fb oC s)/l [4Xe)
;0O /1S
Sin 2 = 5/-————“1(60) x 10
o)
sinx = U3
>
x = 3‘3/7_'("""”3)

35.3

i

(35 £)

N

S}‘VL oC e
5.4 6 1
A X = 51n(95) X S.4
G 7
- o-83029. --
b S “3]1’\-)(%‘5)
= 534 ('ésH 5"3 ..... $ o
(Total for question 3 is 3 marks)
10 m
60°

15m

(Total for question 4 is 3 marks)

/




12 cm

Work out the length of AC.
Give your answer to 1 decimal place.

X . [/ 2
e - ) .
5;"7(/05) 31/7(55)

. - ,_,’,_7:# X sin(105)
x 3:n(59)

= J4.2 (1dp)
| 4. 2 po

(Total for question 5 is 3 marks)

14 m

Work out the size of angle BAC.

Give your answer to 3 significant figures.
s (43)

S .
20 1

Soq x = SAC¥E) 4 20
s

$inx = O.97428 ...

S/ A "(/’77”5)

{

(Total for question 6 is 3 marks)

77.0 (3s})
J

2

i




65°
xcm
13 cm
40°
5 cm
Work out the value of x.
Give your answer to 1 decimal place.
2
2
\\jL r 5 = 15
z
2
T - =
j = (7
5
_ ¢ © - 15
|80 — B3
0 - /_/_%..

/ v

sin(75)  Sml«o)

2z osin(79)
5in(40)

;5.0 (idp)

x:

(Total for question 7 is 5 marks)

_




Work out the perimeter of triangle ABC. o - 2>
Give your answer to 3 significant figures. | B3O 105 —«¢ %
x _ 3
5N (43) Sin(109)
JC = 135 X S)I/\(L{’S)
sin( lO'S)

jo. 07861779

\1

9 13

e -

sin(27) sin(10S)

_ 1  sin(27)
J T Sin(109)

- 6.1570727 172

X+ Y + 3.1 = 27.3”4(35})

(Total for question 8 is 4 marks)

- Y




82°

12m

40° (
C

B
Z-
Work out the area of triangle ABC
Give your answer to 1 decimal place.
X T
"/ - s
Sl.fl(?l) Slﬂ(LrLO)
S X Sil’\(%’l)
Sin(4o)
<= 18 487, .
Angle ABC = 180 = B2 —yo

= 38

—

; I
hrea = ~ (15.ev7.)(12) 50 (53)

2 .} mL | P

(Total for question 9 is 5 marks)

)




10

12 cm

Angle ABC is obtuse.
Work out the size of angle ABC.

Give your answer to 3 significant figures.

20 cm

S['n x Sin {35)
__———-——‘"—-—— e ——————
20 ji 2
_ ' 35 ,
Sin(x) ~ _3______“0(.___) x 2o
¥3
v = sia " (Ans) o
z 7 2 .9 fjsi'mx—
) 12.")01."“"7io /
But AB(C 15 obtuse... \/
igo — 72.9 = J1o7 (33F) %\4&
- W,
C"Q\r"{(\o\o'
s‘{\‘:(f;
P
o7 .

(Total for question 10 is 4 marks)

_J




13 cm 10cm ¢
xcm
Work out the value of x. G
Give your answer to 1 decimal place.
o = bl+c?_ ~ 2bkc cos A
e )t r(s0)tm aliz)(ie) cos (100)
xz = 3/[{’ (485 -
x by ‘!ﬂ’r\i
= 17.7 ([at,ﬂ)
P —
(Total for questlon 1 is 3 marks)
B
b
5m
e
P
7m C C

Work out the length of BC.
Give your answer to 3 significant figures.

z _ (5)2 + (/1)7' ~2(s5)(1) cos (42)
ar = 9_\,O|7°\86.,-
o = JPms
= 4.9 (35¢)

(Total for question 2 is 3 marks)

_/




Work out the length of AB.
Give your answer to 1 decimal place.

L2 = as) + a2y - 2(15)(12) cos(20)

A

o = 0 .17106..
a® = {Pns
«a = 5.5 (idp)
222 om
(Total for question 3 is 3 marks)
4 A

b
oX m 53m

B /4 43°

62m C

Work out the value of x.
Give your answer to 3 significant figures.

2% = (53)° ¢ (62) - 2(5 3)b-2) cos(#3)

z

X = /3‘#55"/’
x T AR
x = 4 .30 (ES,L)

(Total for question 4 is 3 marks)
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Work out the value of x.
Give your answer to 3 significant figures.
2

2 2
- + C —_

cos A T
2b c

- (1s)° i—(lé)(1 “(20)1
2015)(16)

cos X = %o

- cos™ (¥ns)

. g0 .3 (2sh)

coe s> X

(Total for question 5 is 3 marks)

{O 10 m

9m

Work out the size of angle ABC C
Give your answer to the nearest degree.

_ (5)" +(9)
2(5‘)(7)

Ces oo

{
—

cos = 5
C‘oS"(Wr’S)

a 2
—(10)

3)6 (‘Nea,gj+ Oléjr?_e_)
R 6 3

J




21 cm 13 cm

24 cm
Work out the value of x. a
Give your answer to 1 decimal place. 5
2 .
- (a1

| @)+ u®)
cos 2 = 2(2003)

— \7
" Cne = LD
cCos D 13

= GO s~ ‘ CMS)

- R6. 4 Odp)

(Total for question 7 is 3 marks)

Work out the size of angle BAC.
Give your answer to 3 significant figures. =

(s2) +(73) — (61)
Cod X =
2(52)(773)

goq

T e

v = cos ' (HAS) é%s .

= 675 (3 3 7[ ) (Total for question 8 is 3 marks)

/




—'l x°

5 cm

Work out the value of x.
Give your answer to 1 decimal place.

> _(1o) + (13) - 2(10)(13) cos (+0)

9

2

= 49.92% - --
tj © ')

(Total for question 9 is 5 marks)
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(2x-3)
C
Work out the value of x.
of': tozf‘c2 — 2 bcCc Ces (Y
43 = (ac+a)L = (23(‘,—’5)1 ~ 2(x+2)(2x -3) Coxfco)
73 = (oc42)(=xq2) (2% - 3)(20c-3) - (j(,»r“z,)(’ljc——s)

; 2 ¢
7R = XT+2x +2x+44 ¥ wae b -6 *9 'Q:)c -Zx tux
73 = Gx — goe +13 — (20" # X 7 ¢)

73 = 3x - T + 17
o = et — G — 54
® = o5cf - 3x— 13
o= (= - 6) (x + =
2c¢ = G x~ = — X
' sukd e
L canwet = -3 03 The lengfhs we
VLQ&CL‘F\UQ.
x = 6
G

.............................

(Total for question 10 is 5 marks)
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(/7A7)2+-(ﬁi¢)2

[69. 0067755

j‘m

Perimeter = 197
- ¢g ) M

A
11 2
15.4
19.7m -
B g C
The area of the triangle is 100m’
Calculate the perimeter of triangle ABC.
Give your answer to 3 significant figures.
// 7L b S 7 C = /0 O
2
- Nsin X = /00©
L (19.7)(154)
- = ;| 0 ©
/51. 69 31X
Jo O
Sin X =
150 61
100, >
x = S (/‘5/ 61

G4) 24 18785 3

~2(19 7)(15 ¢) cos (41 24157

/5.4 + /3. 0

(Total for question 11 is 5 marks)

/




0.9, find P(4)

Given that P(4)

8

o .9

(Total for question 1 is 1 mark)

Shade the region that represents (A N B)

2

(Total for question 2 is 1 mark)

Shade the region that represents (A U B)

3

(Total for question 3 is 1 mark)




Shade the region that represents (A'NB")

4

5 Shade the region that represents (A'UB)
B
A /B

6

(Total for question 6 is 1 mark)

/




7 40 students were surveyed:

20 have visited France

15 have visited Spain

10 have visited both France and Spain

Use this information to complete the Venn Diagram

France

|5

(Total for question 7 is 3 marks)

8 Out of 50 people surveyed:
30 have a brother 5‘ 5

25 have a sister
6 have neither a brother or a sister

Use this information to complete the Venn Diagram 5 5 _ %" [f _ / /

Brother Sister

(Total for question 8 is 3 marks)

_ ‘ ),




Sami asked 50 people which drinks they liked from tea, coffee and milk.

All 50 people like at least one of the drinks

19 people like all three drinks.

16 people like tea and coffee but do not like milk.
21 people like coffee and milk.

24 people like tea and milk.

40 people like coffee.

1 person likes only milk. \

Sami selects at random one of the 50 people. e

Work out the probability that this person likes tea.

...................................................

10

Sami asked 60 people which sports they liked from rugby, football and cricket.

8 people like all three sports.

17 people like rugby and football.
13 people like football and cricket.
19 people like rugby and cricket.
35 people like football.

27 people like cricket

30 people like rugby.

a) How many people liked neither rugby or football or cricket?

....................................................

(Total for question 10 is 4 marks),
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/

11 = {even numbers between 1 and 31}

{
{2,4,8; 14,18, 22, 28}
{8, 10, 16, 18, 22,30}

o

g;}
A
B

/

(2) Complete the Venn diagram to represent this information.

4)
A number is chosen at random from the universal set, &
(b) What is the probability that the number is in the set AUB ?
;| O
/
/15
2)
(Total for question 11 is 6 marks)

.“Z]
-
3




- _ "

12 Here is a Venn diagram.

/N
B
C
(a) List the members of AN B
....... l /30A¢8
A number is chosen at random from & ()

(b) Find P(BUC)

..........................................................




/ )

13 & = {odd numbers less than 30}
A4={1, 5,/7,”2/3,?49}
B = {7, 11, ¥5, 29}
C={%15,17,19, 25,27}

(a) Complete the Venn diagram to represent this information.

A number is chosen at random from &

(b) TFind the probability that the number is a member of (A N B).

(Total for question 26 is 3 marks)
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1

The table shows some information about the heights, in cm, of some plants.

Minimum

Lower Quartile

Median

Upper Quartile

Maximum

11

28

37

42

51

Draw a box plot for this information.

[ I [ [ i T | 11
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10 20

30
Height (cm)

40 50

(Total for question 1 is 2 marks)

60

2 The table shows some information about the weights, in grams, of some potatoes.

Range

Lower Quartile

Median

Upper Quartile

Maximum

101

110

132

162

185

Draw a box plot for this information.

(N LIV

(1
o
T

[ ) [ | T 1 T i T L1 I ) ,;_5
11 L1 [ [ ! Pii] i ! R
L] | 17 | i ] ] 1 (I

i ] { [ { [ ] I Lt | T 1
i LT R [ 4.1 | 1k REN RN TTrit i 57_,_5,
i () (I T 13 L 1 ] 1 P [ I |

[N | T RN ] i | 1t | 11 1 i

i) i i [ il iid l ! [ [ i i

1 i | [ RN | i i P | §

N i TP jtiid I 1 i i | 3

1 i H I : [ 3 1 i1
[ AN i 1 i T 1 i
] [ i 1 | i [ ] |
! [ i | ] b [ 1 1 !

1 T 8111 11 ] i T { | i

L3 10 S } i 1 1 ‘

! [ { i [ ] i T |
i | (] [ i i 4§ | 1 ] i
] ! | i i [l SRR NN IR i i i
i N i 7 7 A I O !

(Total for question 2 is 2 marks)
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4 2

3 The times, in seconds, of 15 students running a race are recorded below.
,/ - L \
2 sS4 sy 55 5%&3?9@0\.65 61 ¥ 64 7707\/5
’ o~ ~ ) 7 / p / I'e e s i
Draw a box plot for this information.
Me dian = 60
/ G = 55
uoe = ed

i | i 11 [l 1 i 3
[ [ { |1 | I { !
i [ i |1 [ ] | ! 1
T | T 1] ] 1 P
! | ! Al ! ] A
SRR | i 1 1] i I i
H i | | i | [
| i | i ] | i
| } | ! t i i
I 1 i 1 i ] I | i 11
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L 1] 1] I ] ] i
] i [} i [ | [ | i i [} | (| ’
50 55 60 65 70 75 80
Time (s)

(Total for question 3 is 2 marks)

4 The weights of 11 pigs, in kg, are recorded below.

By o & o (9)n 0w ow by
Draw a box plot for this information.
median 69

L& 59
U & §0

[ ] ] ] ] it | }
LT &1 [ NN 11 111 !
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141 | ! ! ! -
- | [N | i - | (I | T
i 1 { [} | | i
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| 1] L ;
1 | | |
i { ]
1 { 1 |
i | } { {
Pl | [l (] | | i
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NEEE AN NN I RN i i I i HEEEEE
i | T 1 ] 1 [N [ [} 3 11 T } ] Pt i it 8!l
40 50 60 70 80 90 100
Weight (k) (Total for question 4 is 2 marks)
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(The

table shows some information about the heights, in cm, of some tomato plants in Maggie's garden.

Minimum Lower Quartile Median Upper Quartile Maximum

12 27 35 42 55

(a) Draw a box plot for this information.

11 ! ! [N 1144 |1 | ] 14 ]
| (N [ TP [l [ NN TN NN
{ I I | | [ [l i
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(2
There are also tomato plants in Nigel's garden.
The box plot below shows the distribution of the heights of Nigel's tomato plants.
[ [ ) [ [l [ ) AN [N [l | L L id [ ] 11
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(b) Compare the distribution of the heights of Maggie's plants with the distribution of height of Nigel's
plants.

The...oed . height..of... Hagg) €5 (PMALeS. ... qrealer.
on..average Ty ace. faly

..................................................................................................................................................

(Total for question 5 is 4 marks)
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6 The table shows some information about the maths scores of students in class A. \

Minimum Lower Quartile Median Upper Quartile Maximum
9 15 19 31 43

(a) Draw a box plot for this information.
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Maths Score
(2)
The box plot below shows the distribution of the maths scores of students in class B.
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Maths Score

(b) Compare the distribution of the maths scores of students in class A and class B.

....................................................................................................................................................
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(Total for question 6 is 4 marks)
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7 The table shows some information about times, in minutes, it took some boys to complete a puzzle.

Inter Quartile Minimum Median Upper Quartile Maximum
Range
8 12 18 23 29

(a) Draw a box plot for this information. Lower ’R = 23 —38 = |5
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Time (minutes)
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Some girls also completed the puzzle.
The box plot below shows the distribution of times the girls took to complete the puzzle.
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(b) Compare the distribution of girls' times and the boys' times.

2
(Total for question 7 is 4 marks)

\_ /




Workout

Question 1: 2000

Question 2: 80

Question 3: (a) 1220

(b) Selection is random/marks don’t wear off etc
Question 4: 174 or 175

Question 5: (a) 9333 or 9334

(b) Selection is random/all the jelly beans actually went back into the jar/random selection
Apply

Question 1: 80

Question 2: 12

Question 3: 1:2

Question 4: 150



